



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics Engineering (VLSI Design and Technology))- F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 |
 58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 |
 FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL103-Engineering Chemistry-I: TwCA 25/10 25/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 FEL103RI-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT					
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	C*G	SGPI	GRADE		
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11													
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G						
7095956	BHANUSHALI DEVANSH NILESH GEETA 2023016402327735 (1)Mumbai-(126)	58651 32+	14+	46		FEC101 --	23+	23		58652 24+	9+	33		FEL101 --	22+	22		58655 30+	10+	40		FEL102 --	21+	21		Successful 18.00	120.00				
		3.00	C	5.00	15.00	1.00	O	10.00	10.00	2.00	D	4.00	8.00	0.50	O	10.00	5.00	2.00	B	6.00	12.00	0.50	O	10.00	5.00	6.67	--				
		58653 36	9+	45		FEL103 --	21+	40	19+	58654 42+	13+	55		FEL104 --	21+	39		FEL105 --	44+	44											
		3.00	C	5.00	15.00	1.00	O	10.00	10.00	3.00	B+	7.00	21.00	1.00	A+	9.00	9.00	1.00	O	10.00	10.00										
		Total Credit 18.00				FINAL CGPI 6.67				FINAL GRADE --																					
7095957	CHAURASIYA ARYAN RAMESHCHAND SANGEETA 2023016402327484 (1)Mumbai-(126)	58651 53+	8+	61		FEC101 --	20+	20		58652 24+	12+	36		FEL101 --	19+	19		58655 29+	8+	37		FEL102 --	17+	17		Successful 18.00	119.50				
		3.00	A	8.00	24.00	1.00	O	10.00	10.00	2.00	C	5.00	10.00	0.50	A+	9.00	4.50	2.00	C	5.00	10.00	0.50	A	8.00	4.00	6.64	--				
		58653 35	10+	45		FEL103 --	19+	39	20+	58654 32+	13+	45		FEL104 --	20+	39		FEL105 --	39+	39											
		3.00	C	5.00	15.00	1.00	A+	9.00	9.00	3.00	C	5.00	15.00	1.00	A+	9.00	9.00	1.00	A+	9.00	9.00										
		Total Credit 18.00				FINAL CGPI 6.64				FINAL GRADE --																					
7095958	SURAJMAL CHOUDHARY RAMPAL SHOBHADEVI 2023016402327526 (1)Mumbai-(126)	58651 20F	9+	29		FEC101 --	21+	21		58652 24+	7+	31		FEL101 --	23+	23		58655 24+	9+	33		FEL102 --	22+	22		Unsuccessful 18.00	--				
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	2.00	D	4.00	8.00	0.50	O	10.00	5.00	2.00	D	4.00	8.00	0.50	O	10.00	5.00	--	--				
		58653 23F	11+	34		FEL103 --	23+	41	18+	58654 32+	11+	43		FEL104 --	22+	42		FEL105 --	45+	45											
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	3.00	D	4.00	12.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00										
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																					

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A,* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 80 to 100 70 to 79.99 60 to 69.99 55 to 59.99 50 to 54.99 45 to 49.99 40 to 44.99 0 to 39.99
 GRADE : O A+ A B+ B C D F
 GRADE POINT : 10.00 9.00 8.00 7.00 6.00 5.00 4.00 0.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Electronics Engineering (VLSI Design and Technology)) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 11 Jul 2025

58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 |
 58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 |
 FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL103-Engineering Chemistry-I: TwCA 25/10 25/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 FEL103RI-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT	
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	C*G
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11									
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
7095959	VEDANT BHAVESH GADE MANISHA 2023016402327816 (1)Mumbai-(126)	58651 32+	11+	43		FEC101 21+	21		58652 33+	8+	41		FEL101 22+	22		58655 33+	6+	39		FEL102 20+	20				Successful 18.00	109.00	
		3.00	D	4.00	12.00	1.00	O	10.00	10.00	2.00	B	6.00	12.00	0.50	O	10.00	5.00	2.00	B	6.00	12.00	0.50	O	10.00	5.00	6.06	--
		58653 32	11+	43		FEL103 20+	40		58654 33+	10+	43		FEL104 21+	39		FEL105 33+	45+	45									
		3.00	D	4.00	12.00	1.00	O	10.00	10.00	3.00	D	4.00	12.00	1.00	A+	9.00	9.00	1.00	O	10.00	10.00						
		Total Credit 18.00				FINAL CGPI 6.06				FINAL GRADE --																	
7095960	GALA RONAK DHIRAJ PRITE 2023016402327751 (1)Mumbai-(126)	58651 14F	8+	22		FEC101 19+	19		58652 25+	8+	33		FEL101 19+	19		58655 35+	8+	43		FEL102 17+	17				Unsuccessful 18.00	--	
		3.00	F	0.00	0.00	1.00	A+	9.00	9.00	2.00	D	4.00	8.00	0.50	A+	9.00	4.50	2.00	B+	7.00	14.00	0.50	A	8.00	4.00	--	--
		58653 32+	8+	40		FEL103 19+	37		58654 32+	11+	43		FEL104 19+	35		FEL105 33+	43+	43									
		3.00	D	4.00	12.00	1.00	A+	9.00	9.00	3.00	D	4.00	12.00	1.00	A+	9.00	9.00	1.00	O	10.00	10.00						
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	
7095961	GOWDA RAVI MANJU SAVITA 2023016402327325 (1)Mumbai-(126)	58651 32+	15+	47		FEC101 23+	23		58652 30+	9+	39		FEL101 20+	20		58655 37+	11+	48		FEL102 23+	23				Successful 18.00	120.00	
		3.00	C	5.00	15.00	1.00	O	10.00	10.00	2.00	B	6.00	12.00	0.50	O	10.00	5.00	2.00	A	8.00	16.00	0.50	O	10.00	5.00	6.67	--
		58653 40	9+	49		FEL103 21+	40		58654 32+	8+	40		FEL104 22+	42		FEL105 33+	45+	45									
		3.00	C	5.00	15.00	1.00	O	10.00	10.00	3.00	D	4.00	12.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00						
		Total Credit 18.00				FINAL CGPI 6.67				FINAL GRADE --																	

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points @CG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 @C:sum of credit points GPA: @CG/@C
 MARKS : 80 to 100 70 to 79.99 60 to 69.99 55 to 59.99 50 to 54.99 45 to 49.99 40 to 44.99 0 to 39.99
 GRADE : O A+ A B+ B C D F
 GRADE POINT : 10.00 9.00 8.00 7.00 6.00 5.00 4.00 0.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Electronics Engineering (VLSI Design and Technology)) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 11 Jul 2025

58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 |
 58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 |
 FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL103-Engineering Chemistry-I: TwCA 25/10 25/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 FEL103RI-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT	
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	C*G
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11									
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
7095962	INGALE RAHUL DILIP ANITA 2023016402327581 (1)Mumbai-(126)	58651 AA	8+	8		FEC101 17+	17			58652 AA	12+	12		FEL101 18+	18		58655 AA	6+	30		FEL102 15+	15			ABS	18.00	--
		3.00	F	0.00	0.00	1.00	A	8.00	8.00	2.00	F	0.00	0.00	0.50	A+	9.00	4.50	2.00	D	4.00	8.00	0.50	A	8.00	4.00	--	--
		58653 AA	10+	10		FEL103 16+	29			58654 AA	12+	12		FEL104 18+	34		FEL105 41+	41									
		3.00	F	0.00	0.00	1.00	B+	7.00	7.00	3.00	F	0.00	0.00	1.00	A	8.00	8.00	1.00	O	10.00	10.00						
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	
7095963	JADHAV SWAYAM AMOL SHEETAL 2023016402327542 (1)Mumbai-(126)	58651 7F	8+	15		FEC101 20+	20			58652 24+	6+	30		FEL101 22+	22		58655 24+	8+	32		FEL102 20+	20			Unsuccessful	18.00	--
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	2.00	D	4.00	8.00	0.50	O	10.00	5.00	2.00	D	4.00	8.00	0.50	O	10.00	5.00	--	--
		58653 32+	10+	42		FEL103 21+	40			58654 32+	14+	46		FEL104 21+	36		FEL105 45+	45									
		3.00	D	4.00	12.00	1.00	O	10.00	10.00	3.00	C	5.00	15.00	1.00	A+	9.00	9.00	1.00	O	10.00	10.00						
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	
7095964	JADHAV TANMAY GANGADHAR POOJA 2023016402327975 (1)Mumbai-(126)	58651 32+	8+	40		FEC101 14+	14			58652 24+	10+	34		FEL101 18+	18		58655 26+	6+	32		FEL102 16+	16			Unsuccessful	18.00	--
		3.00	D	4.00	12.00	1.00	B+	7.00	7.00	2.00	C	5.00	10.00	0.50	A+	9.00	4.50	2.00	D	4.00	8.00	0.50	A	8.00	4.00	--	--
		58653 32+	8+	40		FEL103 18+	36			58654 13F	10+	23		FEL104 19+	35		FEL105 41+	41									
		3.00	D	4.00	12.00	1.00	A+	9.00	9.00	3.00	F	0.00	0.00	1.00	A+	9.00	9.00	1.00	O	10.00	10.00						
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points @CG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 @C:sum of credit points GPA: @CG /@C
 MARKS : 80 to 100 70 to 79.99 60 to 69.99 55 to 59.99 50 to 54.99 45 to 49.99 40 to 44.99 0 to 39.99
 GRADE : O A+ A B+ B C D F
 GRADE POINT : 10.00 9.00 8.00 7.00 6.00 5.00 4.00 0.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Electronics Engineering (VLSI Design and Technology)) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 11 Jul 2025

58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 |
 58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 |
 FEL101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL103-Engineering Chemistry-I: TwCA 25/10 25/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 FEL103RI-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT	
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	C*G
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11									
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
7095965	MOHANISH MILIND KHAMKAR MITALI 2023016402327147 (1)Mumbai-(126)	58651 AA	8+	8		FEL101 AA	22+	22		58652 AA	6+	6		FEL101 AA	21+	21		58655 AA	6+	30		FEL102 AA	23+	23	ABS 18.00 --		
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	2.00	D	4.00	8.00	0.50	O	10.00	5.00	-- --	
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	
7095966	/ LATKAR CHARULATA NIRANJAN SHAILA 2023016402327074 (1)Mumbai-(126)	58651 16F	8+	24		FEL101 16F	21+	21		58652 10F	8+	18		FEL101 16F	21+	21		58655 16F	8+	32		FEL102 16F	21+	21	Unsuccessful 18.00 --		
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	2.00	D	4.00	8.00	0.50	O	10.00	5.00	-- --	
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	
7095967	LODHI ROHAN SHIVPRAKASH UMA 2023016402327623 (1)Mumbai-(126)	58651 135+	13+	48		FEL101 135+	20+	20		58652 129E	9+	38		FEL101 135+	17+	17		58655 124+	7+	31		FEL102 135+	19+	19	Unsuccessful 18.00 --		
		3.00	C	5.00	15.00	1.00	O	10.00	10.00	2.00	B	6.00	12.00	0.50	A	8.00	4.00	2.00	D	4.00	8.00	0.50	A+	9.00	4.50	-- --	
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points @CG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 @C:sum of credit points GPA: @CG /@C
 MARKS : 80 to 100 70 to 79.99 60 to 69.99 55 to 59.99 50 to 54.99 45 to 49.99 40 to 44.99 0 to 39.99
 GRADE : O A+ A B+ B C D F
 GRADE POINT : 10.00 9.00 8.00 7.00 6.00 5.00 4.00 0.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Electronics Engineering (VLSI Design and Technology)) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 11 Jul 2025

58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 |
 58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 |
 FEL101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL103-Engineering Chemistry-I: TwCA 25/10 25/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 FEL103RI-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT	
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	C*G
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11									
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
7095968	MEHTA NIGAM PRANAY RUPAL 2023016402327395 (1)Mumbai-(126)	58651 32+	9+	41		FEL101 21+	21		58652 33+	6+	39		FEL101 21+	21		58655 24+	9+	33		FEL102 24+	24				Successful 18.00	106.00	
		3.00	D	4.00	12.00	1.00	O	10.00	10.00	2.00	B	6.00	12.00	0.50	O	10.00	5.00	2.00	D	4.00	8.00	0.50	O	10.00	5.00	5.89	--
		58653 36	8+	44		FEL103 22+	42		58654 35+	9+	44		FEL104 23+	44		FEL105 24+	45	45									
		3.00	D	4.00	12.00	1.00	O	10.00	10.00	3.00	D	4.00	12.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00						
		Total Credit 18.00				FINAL CGPI 5.89				FINAL GRADE --																	
7095969	PARAB YASH JITENDRA SEEMA 2023016402327333 (1)Mumbai-(126)	58651 AA	11+	11		FEL101 17+	17		58652 AA	7+	7		FEL101 12+	12		58655 AA	6+	6		FEL102 14+	14				ABS 18.00	--	
		3.00	F	0.00	0.00	1.00	A	8.00	8.00	2.00	F	0.00	0.00	0.50	C	5.00	2.50	2.00	F	0.00	0.00	0.50	B+	7.00	3.50	--	--
		58653 AA	8+	8		FEL103 14+	24		58654 AA	12+	12		FEL104 16+	31		FEL105 17+	27	27									
		3.00	F	0.00	0.00	1.00	C	5.00	5.00	3.00	F	0.00	0.00	1.00	A	8.00	8.00	1.00	B	6.00	6.00						
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	
7095970	SAIKIRAN KUPPA REDDY NIRMALA 2023016402327727 (1)Mumbai-(126)	58651 AA	8+	8		FEL101 21+	21		58652 AA	10+	10		FEL101 21+	21		58655 AA	7+	7		FEL102 18+	18				ABS 18.00	--	
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	2.00	F	0.00	0.00	0.50	A+	9.00	4.50	--	--
		58653 32+	8+	40		FEL103 20+	39		58654 AA	8+	8		FEL104 20+	36		FEL105 20+	40	40									
		3.00	D	4.00	12.00	1.00	A+	9.00	9.00	3.00	F	0.00	0.00	1.00	A+	9.00	9.00	1.00	O	10.00	10.00						
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points @CG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 @C:sum of credit points GPA: @CG/@C
 MARKS : 80 to 100 70 to 79.99 60 to 69.99 55 to 59.99 50 to 54.99 45 to 49.99 40 to 44.99 0 to 39.99
 GRADE : O A+ A B+ B C D F
 GRADE POINT : 10.00 9.00 8.00 7.00 6.00 5.00 4.00 0.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Electronics Engineering (VLSI Design and Technology)) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 11 Jul 2025

58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 |
 58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 |
 FEL101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL103-Engineering Chemistry-I: TwCA 25/10 25/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 FEL103RI-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT	
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	C*G
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11									
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
7095971	/ SAWANT BHOOMI SANTOSH SNEHAL 2023016402327213 (1)Mumbai-(126)	58651 133+	14+	47		FEL101 22+	22		58652 130+	8+	38		FEL101 22+	22		58655 128+	10+	38		FEL102 22+	22					Successful 18.00	124.00
		3.00	C	5.00	15.00	1.00	O	10.00	10.00	2.00	B	6.00	12.00	0.50	O	10.00	5.00	2.00	B	6.00	12.00	0.50	O	10.00	5.00	6.89	--
		58653 139	11+	50		FEL103 20+	39		58654 132+	18+	50		FEL104 23+	44		FEL105 28+	45+	45									
		3.00	B	6.00	18.00	1.00	A+	9.00	9.00	3.00	B	6.00	18.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00						
		Total Credit 18.00				FINAL CGPI 6.89				FINAL GRADE --																	
7095972	TUSHAR U SHETTY SANGEETA 2023016402327824 (1)Mumbai-(126)	58651 132+	9+	41		FEL101 17+	17		58652 124+	8+	32		FEL101 17+	17		58655 126+	7+	33		FEL102 14+	14				Successful 18.00	96.50	
		3.00	D	4.00	12.00	1.00	A	8.00	8.00	2.00	D	4.00	8.00	0.50	A	8.00	4.00	2.00	D	4.00	8.00	0.50	B+	7.00	3.50	5.36	--
		58653 132	9+	41		FEL103 15+	27		58654 137+	14+	51		FEL104 18+	33		FEL105 26+	36+	36									
		3.00	D	4.00	12.00	1.00	B	6.00	6.00	3.00	B	6.00	18.00	1.00	A	8.00	8.00	1.00	A+	9.00	9.00						
		Total Credit 18.00				FINAL CGPI 5.36				FINAL GRADE --																	
7095973	/ SHINDE VEDEEKA RAJENDRA ASMITA 2023016402327944 (1)Mumbai-(126)	58651 114F	8+	22		FEL101 19+	19		58652 119F	7+	26		FEL101 17+	17		58655 126E	7+	33		FEL102 17+	17				Unsuccessful 18.00	--	
		3.00	F	0.00	0.00	1.00	A+	9.00	9.00	2.00	F	0.00	0.00	0.50	A	8.00	4.00	2.00	D	4.00	8.00	0.50	A	8.00	4.00	--	--
		58653 126F	8+	34		FEL103 19+	31		58654 134E	13+	47		FEL104 19+	36		FEL105 26+	41+	41									
		3.00	F	0.00	0.00	1.00	A	8.00	8.00	3.00	C	5.00	15.00	1.00	A+	9.00	9.00	1.00	O	10.00	10.00						
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, ---Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points @CG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 @C:sum of credit points GPA: @CG /@C
 MARKS : 80 to 100 70 to 79.99 60 to 69.99 55 to 59.99 50 to 54.99 45 to 49.99 40 to 44.99 0 to 39.99
 GRADE : O A+ A B+ B C D F
 GRADE POINT : 10.00 9.00 8.00 7.00 6.00 5.00 4.00 0.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Electronics Engineering (VLSI Design and Technology)) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 11 Jul 2025

58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 |
 58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 |
 FEL101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL103-Engineering Chemistry-I: TwCA 25/10 25/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 FEL103RI-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT	
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	C*G
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11									
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
7095974	BHARNE SUJAL BHIMRAO MAYA 2023016402431893 (22) Vasai-(466)	58651 33+	13+	46	100	FEL101 14+	14	14	100	58652 31+	10+	41	100	FEL101 18+	18	18	100	58655 30+	8+	38	100	FEL102 18+	18	18	100	Unsuccessful	18.00
		3.00	C	5.00	15.00	1.00	B+	7.00	7.00	2.00	B	6.00	12.00	0.50	A+	9.00	4.50	2.00	B	6.00	12.00	0.50	A+	9.00	4.50	--	--
		58653 28F	8+	36	100	FEL103 16+	28	28	100	58654 34+	18+	52	100	FEL104 23+	45	45	100	FEL105 38+	38	38	100						
		3.00	F	0.00	0.00	1.00	B+	7.00	7.00	3.00	B	6.00	18.00	1.00	O	10.00	10.00	1.00	A+	9.00	9.00						
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	
7095975	GAJBHIYE ANWAY AMARDEEP RAKHEE 2023016402400136 (22) Vasai-(466)	58651 32+	12+	44	100	FEL101 10+	10	10	100	58652 24E	6+	30	100	FEL101 18+	18	18	100	58655 24+	6+	30	100	FEL102 13+	13	13	100	Unsuccessful	18.00
		3.00	D	4.00	12.00	1.00	D	4.00	4.00	2.00	D	4.00	8.00	0.50	A+	9.00	4.50	2.00	D	4.00	8.00	0.50	B	6.00	3.00	--	--
		58653 1F	8+	9	100	FEL103 17+	28	28	100	58654 32+	8+	40	100	FEL104 21+	39	39	100	FEL105 47+	47	47	100						
		3.00	F	0.00	0.00	1.00	B+	7.00	7.00	3.00	D	4.00	12.00	1.00	A+	9.00	9.00	1.00	O	10.00	10.00						
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	
7095976	JUMDE PREYANSH MANGESH SMITA 2023016402384433 (22) Vasai-(466)	58651 22F	9+	31	100	FEL101 15+	15	15	100	58652 24+	8+	32	100	FEL101 17+	17	17	100	58655 40+	7+	47	100	FEL102 18+	18	18	100	Unsuccessful	18.00
		3.00	F	0.00	0.00	1.00	A	8.00	8.00	2.00	D	4.00	8.00	0.50	A	8.00	4.00	2.00	A	8.00	16.00	0.50	A+	9.00	4.50	--	--
		58653 38+	9+	47	100	FEL103 21+	40	40	100	58654 32+	13+	45	100	FEL104 22+	42	42	100	FEL105 36+	36	36	100						
		3.00	C	5.00	15.00	1.00	O	10.00	10.00	3.00	C	5.00	15.00	1.00	O	10.00	10.00	1.00	A+	9.00	9.00						
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points @CG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 @C:sum of credit points GPA: @CG /@C
 MARKS : 80 to 100 70 to 79.99 60 to 69.99 55 to 59.99 50 to 54.99 45 to 49.99 40 to 44.99 0 to 39.99
 GRADE : O A+ A B+ B C D F
 GRADE POINT : 10.00 9.00 8.00 7.00 6.00 5.00 4.00 0.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Electronics Engineering (VLSI Design and Technology)) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 11 Jul 2025

58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 |
 58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 |
 FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL103-Engineering Chemistry-I: TwCA 25/10 25/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 FEL103RI-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT		
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	C*G	SGPI GRADE
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11										
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G			
7095977	/ KADAM SAMATA VIJAY VINITA 2023016402384197 (22) Vasai- (466)	58651 32+	8+	40		FEC101 15+	15		58652 27+	9+	36		FEL101 19+	19		58655 37+	13+	50		FEL102 17+	17					Unsuccessful	18.00	--
		3.00	D	4.00	12.00	1.00	A	8.00	8.00	2.00	C	5.00	10.00	0.50	A+	9.00	4.50	2.00	A	8.00	16.00	0.50	A	8.00	4.00	--	--	
		58653 19F	8+	27		FEL103 22+	34		58654 32+	20+	52		FEL104 23+	45		FEL105 37+	46+	46										
		3.00	F	0.00	0.00	1.00	A	8.00	8.00	3.00	B	6.00	18.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00							
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																		
7095978	KHATRI ABDUL MATEEN MOHD SAJID - ZAHRA 2023016402384456 (22) Vasai- (466)	58651 32E	8+	40		FEC101 10+	10		58652 24+	6+	30		FEL101 17+	17		58655 29+	6+	35		FEL102 16+	16				Unsuccessful	18.00	--	
		3.00	D	4.00	12.00	1.00	D	4.00	4.00	2.00	D	4.00	8.00	0.50	A	8.00	4.00	2.00	C	5.00	10.00	0.50	A	8.00	4.00	--	--	
		58653 13F	8+	21		FEL103 16+	30		58654 6F	8+	14		FEL104 21+	39		FEL105 41+	41											
		3.00	F	0.00	0.00	1.00	A	8.00	8.00	3.00	F	0.00	0.00	1.00	A+	9.00	9.00	1.00	O	10.00	10.00							
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																		
7095979	LEKULE VIKAS DATTA SUNITA 2023016402384085 (22) Vasai- (466)	58651 32+	8+	40		FEC101 10+	10		58652 31+	9+	40		FEL101 18+	18		58655 24+	8+	32		FEL102 10+	10				Successful	18.00	109.50	
		3.00	D	4.00	12.00	1.00	D	4.00	4.00	2.00	B	6.00	12.00	0.50	A+	9.00	4.50	2.00	D	4.00	8.00	0.50	D	4.00	2.00	6.08	--	
		58653 41+	8+	49		FEL103 14+	30		58654 50	12+	62		FEL104 21+	42		FEL105 42+	42											
		3.00	C	5.00	15.00	1.00	A	8.00	8.00	3.00	A	8.00	24.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00							
		Total Credit 18.00				FINAL CGPI 6.08				FINAL GRADE --																		

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points @CG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 @C:sum of credit points GPA: @CG/@C
 MARKS : 80 to 100 70 to 79.99 60 to 69.99 55 to 59.99 50 to 54.99 45 to 49.99 40 to 44.99 0 to 39.99
 GRADE : O A+ A B+ B C D F
 GRADE POINT : 10.00 9.00 8.00 7.00 6.00 5.00 4.00 0.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Electronics Engineering (VLSI Design and Technology)) - F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 11 Jul 2025

58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 |
 58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 |
 FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL103-Engineering Chemistry-I: TwCA 25/10 25/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 FEL103RI-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT	
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	C*G
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11									
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
7095980	MOHITE SATYASHEEL AJIT VANDANA 2023016402431912 (22) Vasai- (466)	58651 37	8+	45		FEC101 10+	10			58652 24+	6+	30		FEL101 17+	17		58655 24+	6+	30		FEL102 11+	11		18.00	92.00		
		3.00	C	5.00	15.00	1.00	D	4.00	4.00	2.00	D	4.00	8.00	0.50	A	8.00	4.00	2.00	D	4.00	8.00	0.50	D	4.00	2.00	5.11	--
		58653 33+	8+	41		FEL103 18+	29			58654 32	9+	41		FEL104 21+	41		FEL105 24+	42+	42								
		3.00	D	4.00	12.00	1.00	B+	7.00	7.00	3.00	D	4.00	12.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00						
		Total Credit 18.00				FINAL CGPI 5.11				FINAL GRADE --																	
7095981	TARAPORE HOMI ARZAN JASMIN 2023016402384232 (22) Vasai- (466)	58651 35+	11+	46		FEC101 17+	17			58652 29+	6+	35		FEL101 18+	18		58655 28+	7+	35		FEL102 21+	21		18.00	--		
		3.00	C	5.00	15.00	1.00	A	8.00	8.00	2.00	C	5.00	10.00	0.50	A+	9.00	4.50	2.00	C	5.00	10.00	0.50	O	10.00	5.00	-- --	
		58653 27F	8+	35		FEL103 15+	27			58654 32E	10+	42		FEL104 21+	39		FEL105 24+	45+	45								
		3.00	F	0.00	0.00	1.00	B	6.00	6.00	3.00	D	4.00	12.00	1.00	A+	9.00	9.00	1.00	O	10.00	10.00						
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	
7095982	UPADHYAY SHIVANSH UMASHANKAR POONAM 2023016402384054 (22) Vasai- (466)	58651 14F	8+	22		FEC101 10+	10			58652 24+	6+	30		FEL101 16+	16		58655 24+	6+	30		FEL102 11+	11		18.00	--		
		3.00	F	0.00	0.00	1.00	D	4.00	4.00	2.00	D	4.00	8.00	0.50	A	8.00	4.00	2.00	D	4.00	8.00	0.50	D	4.00	2.00	-- --	
		58653 8F	10+	18		FEL103 18+	29			58654 32+	8+	40		FEL104 21+	39		FEL105 24+	42+	42								
		3.00	F	0.00	0.00	1.00	B+	7.00	7.00	3.00	D	4.00	12.00	1.00	A+	9.00	9.00	1.00	O	10.00	10.00						
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points @CG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 @C:sum of credit points GPA: @CG /@C
 MARKS : 80 to 100 70 to 79.99 60 to 69.99 55 to 59.99 50 to 54.99 45 to 49.99 40 to 44.99 0 to 39.99
 GRADE : O A+ A B+ B C D F
 GRADE POINT : 10.00 9.00 8.00 7.00 6.00 5.00 4.00 0.00

